MR EBRREAEY vy h—21—X Y —J2023=Z8 V-2 BBV Y

SEARRS 2 EMFE | RMNEE? | RMTE2 | A4 2H2 | EWE2 EIME | ERMAd2 | BEE2 | EWNHER?2 HAE RIMKTA | EHERE2 R 2 B 43 B& E3 Bk Bz
O [ ]
3 0 5 2 3 7
1 e ) A T I A
hd o 3 0 13 5 8 6
[-] | ] [ -] [-] [-[ T of=T5s[ [-] [u]-Tof [-] [-]
N O
PN EW 4 1 4 1 3 4
-] [ -] [ [ o= [=T [s[=Tof [-] [ -] [-]
O A
SRMMTE2 4 1 3 1 2 5
[-] [ -] [-] [-[ Pof=Tof [T [f-]1 [-] [-] [ -] [-]
FAZA2 o o 6 0 4 0 4 2
= g T-To
SRMNER 2 1 1 2 3 -1 10
N O I I
BIHRE 3 0 2 3 -1 9
R [ -] [-] [ -]
e [ ] }
SEE 2 | _| | _l | _| 0| _l > 1 1 2 4 2 11
EWPE 2 = 1 1 1 3 -2 12
T O T I R
SEANHIER 2 O = 4 1 6 3 3 3
0 O I Y S
[EE hd hd 0 0 0 7 -7 13
) I B
SEMAFEE hd 0 0 1 19 -18 14
[-[ [ of-[u] [-] -]
O
ZmEE 2 6 0 10 2 8 1
- o[- 1] [-] [-] -]
SRR 2 3 0 2 2 0 8

55




